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CLASS - 11
SUBJECT - MATHEMATICS
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. Find out the nearest hundred for [305].

[500]
[400]
[300]
[200]

35 18
22

Add the numbers given in the box.
[95]
[85]
[65]
[75]
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Fill in the blank space with suitable number.
(5]

(7]

(9]

(10]

In a division, the divisor is 8, the quotient is 42, and the remainder is 5. What is the dividend?
[351]
[361]
[341]
[321]

Pick up the true statement.

[35] rupees is less than [15] rupees
[35] rupees is less than [5] rupees
[35] rupees is less than [20] rupees
[35] rupees is less than [50] rupees

Which one of the following options represents [3] minutes?
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Which one of the following is not a quadrilateral?

<]

Arrange the numbers given in the box in descending order: [55, 63, 18, 92, 65]
[18, 55, 63, 65, 92]

[92, 65, 63, 55, 18]

[92, 55, 65, 63, 18]

None of these
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What comes in place of question mark?

What is the sum of the following notes?
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Rs. 25

Rs. 35

Rs. 45

Rs. 30
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12. Represent the total number of carrots, in the given figure, in the multiplication form.

£ .

A) 3x3
B) 2x3
C) 4x3
D) 5x3

13. Julia had 25 chocolates and Amelia had 65 chocolates. How many chocolates were there in
all?

A) 80 chocolate

B) 90 chocolate

C) 100 chocolate

D) 70 chocolate

14. Which one of the following watches shows the time 4:30?

?

A)

B)

C)

D)

000
15. Pick the three number from the circles whose sum is 15. @O

A) 6,3,2
B) 8,
C) 6,
D) 5
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16. The date of birth of four Indian cricket players (not real) are given below :
Name Date of Birth

Sachin Tendulkar31-4-1972

Saurav Ganguly 6-6-1971

Rahul Dravid 5-8-1971

V.V.S Laxman 4-7-1973

Who is oldest among them?

A) Sachin Tendulkar
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Saurav Ganguly
Rahul Dravid
V.V.S. Laxman

How much water is needed to completely fill the cylinder?
200 mi
400 ml
600 mi
800 mi

Find the number represented by the following figure:
537
548
642
508

Given below the weight of various items. What is the difference between the weight of Rajma

e = =2 S
100 kg 120 kg 140 kg 150 kg
+ + + -
10 kg 20 kg 40 kg S0 kg

and Wheat? Wheat Rice Bajra Rajma
70 kg
80 kg
90 kg
None of these
Which of the chocolate is cheapest among all?
woneh | [ wmar ][ oamvmax || evestar
Kitkat
Dairy milk
Five star
Munch
P
p"“}
The black patch on the footballis ___. ﬂ-.‘

Quadrilateral
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B) Hexagon
C) Pentagon
D) Triangle

22. Find the value of [ ]
If []x[]=144

A) 12

B) 11

C) 9

D) 13

23. Total number of days in January month + Total number of days in December month =?
A) 60 days
B) 31 days
C) 62days
D) 58 days

24. Match the following

(a) 79 (i) Thirty three
(b) 26 (i) Twenty six
(c) 33 (iii) Seventy nine
A) a-iii, b-ii, c-i

B) a-iii, b-i, c-ii

C) a-i, b-iii, c-ii

D) a-i, b-ii, c-iii

25. If A =75, B = 80, find the value of 2(A+B)?

A) 310
B) 240
C) 290
D) 230
NOVEMBER 2011
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1112|345
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. ) 2728|2930 |
26. Look at the following calendar given below L | 1 L How many
Sunday will come in the month of November 2011.
A) Two
B) Three
C) Four

D) Five
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In which one of the following cases a quadrilateral will be formed F

DrawAtoB,BtoC,CtoD,Dto A
DrawAtoB,BtoC,CtoD,DtoE
Draw CtoH,HtoF,FtoE,EtoD
Draw CtoH,Hto G, GtoE,Eto D

Which one of the following numbers has 5 tens 6 ones?
66
55
65
56

Match the following

(@) 7x8 (i) 35
(b) 8x10 (i) 56
(c) 5x7 (i) 80
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a-iii, b-i, c-ii
a-ii, b-iii, c-i
a-iii, b-ii, c-i
a-ii, b-i, c-iii
Look at the following figure carefully Jack goes from Hospital to

Railway station and from Railway station to Airport. How much distance did he cover?
5 km
4 km
9 km
8 km

Three hundred and one can be writtenas .
31

310

301

3001

Identify the pair of numbers among the following which are greater than 18?
16 and 17
17 and 18
14 and 15
19 and 20
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Add 2+3+4="?
234

o N ©

Which of the following is true?
[2+2=22]

[2-2=2]

[2+0=20]

[2-0=2]

How many tens are there in[43]?
[it has 3 tens]
[ithas 7 tens]
[it has 4 tens]
[it has 1 tens]

Which one of the following is equal to[1] ?
[2+0]
[2-0]
[2+1]
[2-1]

Which one of the following options is not correct?
[3-2=1]
[2-1=1]
[1+0=0]
[1-1=0]

Which one is true?
[8>3]

[6<8]

[4>2]

All of these

1 minute is equal to:
30 seconds

60 seconds

600 seconds

300 seconds

What comes after Saturday?
Sunday

Monday

Friday

Thursday

Mass of an object is measured in which of the following units?

centimetres
feet
seconds
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grams

A three digit number is 22 more than three digit smallest number. What will be the digit at its
hundreds place?

2

1

3

0

None of these

Which one of the following is correct for places of digits of number 674?
Ones=6, tens=4 and hundred=7

Ones=7, tens=4 and hundred=5

Ones=4, tens=6 and hundred=7

Ones=4, tens=7 and hundred=6

None of these

S0z
100g [100g | |

What is the weight of the orange?
250 ¢g

3509

509

100 g

None of these

] L. . _ _ 4
I S — — grams and a e grams, then find the

difference in weight of one .. and one. e
1 gram

2 grams

3 grams

7 grams

None of these

L)


https://studyadda.com/sample-papers/2nd-class/mathematics/maths-olympiad-model-test-paper-14/2188
https://studyadda.com/sample-papers/2nd-class/mathematics/maths-olympiad-model-test-paper-14/2188
https://studyadda.com/sample-papers/2nd-class/mathematics/maths-olympiad-model-test-paper-14/2188
https://studyadda.com/sample-papers/2nd-class/mathematics/maths-olympiad-model-test-paper-14/2188
https://studyadda.com/sample-papers/2nd-class/mathematics/maths-olympiad-model-test-paper-14/2188
https://studyadda.com/sample-papers/2nd-class/mathematics/maths-olympiad-model-test-paper-14/2188
https://studyadda.com/sample-papers/2nd-class/mathematics/maths-olympiad-model-test-paper-14/2188

